Assembling Instruction & Parts List

Item No. Scratching Post

27.5inch
Ccream (70 cm)

Description Measurement Quantity Item No.
19.5x19.5x 0.75 in.
Pos. 1 Bottom Plate (50 x 50 x 2 cm) 1
20x725x0.75in.
Pos. 2 Platform (51 %19 x 2 cm) 2
20.75 x 15.75 in.
Pos. 3 Hammock (53 x 40 cm) 1
Pos. 4 Wooden Plate @3.5in. 1
(29cm)
. 23.5x775in.
Pos. 5 Post with Spacer Bolt (09 20 cm) 2
. 3.5%x16.5in.
Pos. 6 Post with Spacer Bolt (09 x 42 cm) 1
3.5x16.5in.
Pos. 7 Post (0.9 x 42 cm) 1
4.5x775in.
Pos. 8 Post, Plush Covered (011.5 x 20 cm) 2
. 4.5x%x775in.
Pos. 9 Post, Plush Covered with Spacer Bolt (011.5 x 20 cm) 1
M8 x 1.75 in.
Pos. a Countersunk Screw (M8 x 45 mm) 4
M8 x 3 in.
x 80 mm
Pos. b Thread Rod M8 x 80 3
vos | IIITIID
Pos. b ([TTITIIINLCTTTTITTRIREATTTITIINNCD

@D Advice:
This product should be assembled by an adult.




